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TREER REWMRLUESKEE XY BB E=AKN BHI ST
Fs =B TE&Be@m (o) Be (o) aF&®m (t) =3
1 SRR % A 160,103.73 9,606.22 169709.95
2 Hom 2 A 1,000,639.81 60,038.39 1060678.20
L& 1,160,743.54 69,644.61 1230388.15
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TEEFEST
TITREEM: REmFUESKLE Xy EMBAE=7450 BAL T
F5 IE &R AR B TEE | FEBEMN | FE28EN0 ZF
— | EfEEEER
T U5 ArE I
p [FE (ER) AN = 4,00 424528 | 1698112 313
2 |ETBUKE(EE) s = 117.00 235.85 27594.45 3.1.1
3 |[HhREEARESIES - 117.00 235.85 27594.45 3.1.1
4 [HTKNERE m 306.00 169.81 51961.86 3.1.10
5 |MTAKAEIRIR 1iE7L# 7 51.00 396.23 20207.73 3.1.10
N = AT EZ NIEN
6 |RERFAUBLAENH = 47.00 169.81 7981.07 315
SRERRS
BRERRELER .
7 i8] fABEE 33.00 235.85 7783.05 3.1.1
Z | IeEANT 160103.73
TR 160103.73
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TRER REhFUESKOE Sy BREE=750 B T
s T H B R AES B | I8 | FABEN | FaBen i
— |KmEA
1 | KPR EES 1LEE, 80 = 16.00 2057.55 32920.80 313
2 |EEApREER 1S, ZF5N Km 2.00 1147.17 2294.34 3.1.1
3 |EBUKEAIR LN 1E$, BE. =% =R | 1680.00 69.81 117280.80 313
4 | BTSN 1, %8 =R | 1680.00 47.17 7924560 311
5 |HREBEARZEN 1EE., %50 =R | 1680.00 47.17 7924560 311
6 | TKALEE =R 842.00 188.68 158868.56 3.1.10
7 |REKELFS SN =R | 686.00 566.04 388303.44 3.1.5
8 J%(%g;fﬁégiéﬁh ;g;ﬁﬁm =R | 1287.00 4717 60707.79 311
= | IEEANT 918866.93
= |EARIEHE (224) 1. (1~5, 8) *0.22 81772.88

CE 1000639.81




